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P3-15

BYiE) | GEBIRTIK (D) | EBE (EAH/#K) | XS ERE

01:00 136 60.0 i B31&@01:00 (K FB{EREE)
02:00 136 60. 0 i iR1%@02:00 (KAL)
03:15 136 60. 0 i ¥iEA@03:15 (KR PAFERESE)
05:25 136 60. 0 i ¥EA@05:25 (KRR
08:20 136 60.0 5 FnHRe08:20 (KRF{ERLEE)
10:00 136 60. 0 i FiHA@10:00 (FRFIEREE)
11:25 136 60.0 i FiHfe11:25 (REERE)
12:45 136 60.0 5 FiHfe12:45 (RRFAERSE)
14:05 136 60. 0 i FnHfe14:05 (REERSE)
15:45 136 60. 0 i FfA@15:45 (KRPBERSE)
23t+]1360.0 (100%) 600. 0 JEPUHKEC: 1900.0, PH: 5.8

unusual large postFgEt from yesterday (202), set to 180.0 ml.
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P3-15

BfiE) | EBIETK (D) | El=E (EH/HK) | XK EFE

06:45 180 50.0 [ B1%@06:45 (KRFERE)
07:25 180 50.0 i B2i1&@07:25 (KB{EREE)
08:30 180 50.0 5 B1%@08:30 (KFERE)
09:40 180 50. 0 i 1RRi1%@09:40 (K FBfER%=S)
10:45 180 50.0 i Bi1%@10:45 (KREERE)
11:35 180 50.0 5 Bi%011:35 (REERSE)
12:15 180 50.0 (5 Ri%e12:15 (RAERSE)
13:00 180 50.0 [ B2i%@13:00 (FKHAEHE)
13:45 180 50.0 A RRi1%@13:45 (FRAERLSS)
14:30 180 50. 0 5 Bi&e14:30 (KRF1EREE)
15:25 180 50.0 i BRi%@15:25 (RAIERSE)
16:25 180 50.0 R B1%@16:25 (KFEREE)
2it]2160.0 (12%) 600. 0 3EHKEC: 1560.0, PH: 5.8

EORGEBEATC (180. 0) 5T HA (106. 0) A 7F, FIREH T % @RERS EXER
ZRIASEBRIERE85. 0 ml.
[E/REC 2570.0 K&, EILFAKECAE & MEER
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06:45 210 50.0 (&= BRi%@06:45 (KRF1EREE)
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13:25 210 50. 0 iz Bi1%013:25 (KRFERE)
14:40 210 50.0 |Z= Bi%014:40 (REERSE)
23t]1470.0 (70%) 350.0 ZWHKEC: 1560.0, PH: 5.8
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P3-15

AYiE) | EBIAT (FD) | EBE (EH/HK) | XKR EFRF

06:45 210 50.0 |Z= B1%006:45 (KRFERE)
08:05 210 50. 0 i 1iRi1%@08:05 (K FAfER%=%)
09:30 210 50.0 5 ’R1%@09:30 (KkBfERE)
10:45 210 50.0 5 B1%010:45 (RREERE)
11:55 210 50. 0 i RRi%@11:55 (K BERKSR)
12:50 210 50.0 i BRi%@12:50 (FKPAIERSE)
13:50 210 50.0 (&= RRi%@13:50 (FRAHIERLEE)
15:00 210 50.0 |Z= BRige@15:00 (KPHEREE)
=21t 1680.0 (8X%) 400.0 3283 %EC: 1560.0, PH: 5.8

EORFEBETC (210. 0) 5FHA (106. 0) 7

ZRIASLRRIERE99. 0 ml.

[@);%EC 2685.0 K5, ZEiHBIKECAEZ hiERR
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FRV (ml plant-1)

P3-15_0, Day=3 (2025-04-03)

VI, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
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cumET (ml/plant)

ET (ml/hr/plant)
cumET (ml/plant)

40 - - 1500
- 1000
80
730
20 - 803
00 - 500
220 10 . S 44
22 Warning: lcol [FVI',| "FVO’'] missing
0 -
( mm v
FRV
100 +
1 )
v Y v v "
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 ] TargetEC=1200.0, TargetSetEC=1560.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.8 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 i 1000
Bylnit @D6 q3:00: ET=260 Fg=400.0 Ro=159.0
1 |
100 : 750
: L 500
1 & o
50 - !
: ® ® - 250
()_:;Z;'  — *F ’ 9
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1000
I 2 T 0 0 0 20 0
| - 750
100 1 ByEt @D3 18:10: ET=205 Fg=693. 0 Ro=nan &—o 0: e © e e o
: L 500
1
50 - !
®  Laso
O_EZ;;’Ffli!Q  a— 9
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 1000
BB | BB | 25|25 | 25|25 (2|25 B | B i 5 ERE R ERERER ERA E AR EAERAERRAEAERS
| - 750
100 1 ByWoFv @D6 q3:00: ET=244 Fg=400.0 Ro=168.0
: L 500
50 ! N NS \S—S——
1 O_EZ;;’Ffli!Q *tggg’  — — 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0sl B | B [ZR|T|Z2F(ZT |5 (25| BB | B i 5 ERE R ERERER ERA E AR EAERAERRAEAERS
0.6 -
0.4 1
0.2 A
0.0

—_— 4
[ ] | _obs
—@— PPFD obs

1500 ~

60

40 -
RH

[ ] RH_obs
2004+ @ RHo_obs

3_
’." e v f#
P, 2
. Yk S

hour



m=485, FV0=0 m=575, FV0=0 m=630, FV0=0

30. 5 - — WE| ., o— me | 3057 o— wE | 305 o N
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29 5 29.5 -
29.0 - 29.0 - 29.95 1 2951
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T T T T T T T T T T T T T T
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36
—o— MW —— MW —o— MW —— MW
i 35. 00
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P3-15

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

07:00 900 50.0 |Z= 1iRi1%@07:00 (K FH{ER%=2)
08:00 900 50.0 R ;R1%@08:00 (K FAfEEE)
09:25 900 50.0 5 B21%@09:25 (KFERH:E)
10:40 900 50.0 R B3i%@10:40 (KAERE)
11:35 900 50. 0 i BRi&e11:35 (RAERE)
12:25 900 50.0 i BRig@12:25 (kPB{EREEE)
13:15 900 50.0 i BRige13:15 (kAfEREEE)
14:05 900 50.0 5 B1%014:05 (REERE)
14:55 900 50. 0 i 1RRi%@14:55 (K BERKS)
2311 8100.0 (9%) 450.0 323 KEC: 1560.0, PH: 6.0

EOREBRTK (210. 0) 58 (98. 0) 1" FF, FIREHR T % MEEZRSE XER

ZRIASLPRIERE107.0 ml.

[@;&EC 2900.0 K5, ZEiLHBIKECAEZ hiERR




P3-15_0, Day=2 (2025-04-02)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)
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